Kubota Diesel Engine Super 03 series - Model V2203 Yehida 1 amd 2

Specifications
No. of Cylinders 4 3600 -
Bore x Stroke mm (in) | 87.0 x 92.4 (3.43 x 3.64) 3000
Displacement L (cu.in.) 2.197 (134.07) , 2800 36.6 (49.7)
. Gross Intermittent KW (PS)
Combustion System E-TVCS 2600 34.2 (46.6)
Intake System Natural aspirated 2400 31.8 (43.3)
Cooling System Radiator cooling 2200 29.4 (39.9)
Starter Capacity V-A 12-1.4 3600 -
Dry Weight kg (Ibs) 180.0 (396.8) 3000 -
i ) 2800 34.3 (46.7)
Industrial Use ' Net Intermittent KW (PS)
2600 32.4 (44.0)
2400 30.3 (41.2)
2200 28.1 (38.2)
3600 -
3000
2800 29.8 (40.5
Net Continuous KW (PS) ( )
2600 28.1 (38.2)
2400 26.3 (35.8)
2200 24.4 (33.2)
3600 -
3000 -
Stand-by kW (PS)
1800 24.2 (33.0)
1500 20.1 (27.3)
Generator Use
3600 -
, 3000
Continuous kW (PS)
1800 20.2 (27.5)
1500 17.2 (23.3)

*Specifications are subject to change without notice. *Dry weight is according to Kubota's standard specification. When specification varies, the weight will vary accordingly.
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